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Fraferfaa 1wl sTsites e § e ol : 1
() TIAST I HHH
(i) wHHIG
(i) 99 | H HH
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58/4/3/R4PSQ/21

.
Qcollegedumas
India’s largest Student Review Platform



Er5E
55
General Instructions :
Read the following instructions carefully and follow them :

(1) This question paper contains 34 questions. All questions are compulsory.

©®

(it)  This question paper contains two sections :
Section — A : Macro Economics
Section — B : Indian Economic Development

(itt) This paper contains 20 Multiple Choice Questions type questions. Each
question carries 1 mark.

(tv)  This paper contains 4 Short Answer Questions Type-I questions. Each
question carries 8 marks. Answer these questions in 60 to 80 words.

(v) This paper contains 6 Short Answer Questions Type-II questions. Each
question carries 4 marks. Answer these questions in 80 to 100 words.

(vi)  This paper contains 4 Long Answer Type Questions. Each question carries
6 marks. Answer these questions in 100 to 150 words.

(vii) Attempt all parts of a question together.

(viit) In addition to this, NOTE that a separate question has been provided for
Visually Impaired candidates in lieu of questions having visual inputs,
Map etc. Such questions are to be attempted by Visually Impaired
candidates only.

(ix)  There 1s no overall choice in the question paper. However, an internal
choice has been provided in few questions. Only one of the choices in such
questions has to be attempted.

SECTION - A
(Macro Economics)

1. Arrange the following in the correct sequential order, if the government of
a nation is trying to curtail the situation of inflationary gap : 1
(1) Decrease in disposable income
(11) Increase in taxes

(111) Decrease in Aggregate Demand

Alternatives :
@A) @, (1), (i) B) @), (1), (@)
(C) @), (i), () D) @), (), (i)
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Freferiaa e o1 eaTgEe STereH i 1

HAA 1 : ST I Toid Th AT & TP IcATEH o U 3 |
A 2 : 3T 1 I T T 3] §=d 1 BRI ST 2 |

feu T e o 3rretiss § ffaRaa o @ @&t fased &1 === hifu
(A) HUT1HA 2 N HUT 2 3T R |

(B) U 1 FEAEINHUT 2R |

(C) ®e 1323 a3 |

(D) HUT1 32 HI FATAE |

ro

0

& TS AT G, 3T o 3 TR 1 T8I i STaT 3T9d s=d Wi (APS) 3 & - 1
(Tt fashed HT T L 1)

@M @FL) | 0 | 50 | 100 | 200 | 300 | 400

IUER @A) | 50 | 75 | 100 | 150 | 200 | 250

forerea
A) 50 B) 100
(C) 200 D) 0

frefaRaa et i ufgu @ s1fipea (A) 3R %o (R) | = fou 1o foskedi & @ @&t

forehea gfu : 1

TR (A) : Hifgeh Tohet T IcUTE Shi o1 H ARATah Tehel TRT] IcdTG fehelt Tg
3TRIe Fgfg 1 S Tehash 3 |

FRUT (R) : ITEAfIeh Tehet Tie] SIS H SEq3Tl 3R 13Tl o Yo il IaHM a9 o Hooli
TR HTIT ST R |

ICET

(A) 3IHYT (A) 3R HR (R) ST T & 3 HR0T (R), 31T (A) 6 9t s
FATL |

(B) IATHUA (A) 3R HR (R) THI T & 3T HRV (R), ARUT (A) h H&t men
TE S |

(C) 3Tfiepe (A) 9 2, Wl SR (R) 3TEA 2 |

(D) AR (A) 378 B, Afehd HROT (R) T F |
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Read the following statements carefully : 1

Statement 1 : Consumption and Savings are the components of National

output of an economy.

Statement 2 : Higher level of Income often leads to lower savings.

In the light of the given statements, choose the correct alternative from

the following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.

From the given table, identify that level of income, where Average

Propensity to Save (APS) becomes Zero. 1
(Choose the correct alternative.)
Income
0 50 | 100 | 200 | 300 | 400
R crore)
Consumption
50 | 75 | 100 | 150 | 200 | 250
R crore)
Alternatives :
(A) 50 B) 100
(©) 200 D) 0

Read the following statements — Assertion (A) and Reason (R). Choose one

of the correct alternatives given below : 1

Assertion (A) : Real Gross Domestic Product is a better indicator of
economic growth of a nation as compared to Nominal Gross Domestic
Product.

Reason (R) : Real Gross Domestic Product measures the value of goods
and services at current year prices.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.
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Trreforfiad o @, feet srefesrereen o qa1 3l =h sreea ferioai(3i) =i we= =1 : 1
() 39 U GH HAR H 99 S R |

(i) zoH forefl T A1 BehT o UTE T g1 W i fiferd fenan San @ |

(iil) o8 "o fereht TY % el Sob o e TEf g3 Yg1 i e B |

ferepeua :
A) T 1) B) (i) = (iii)
(©) @33 D) @), (i) 7 (i)

Frfaeer 2 oS 6 i, S e g % & e e w  afg

it Sl Frefa s ahar 2 | (T fopea g fmwm R gfd i) 1
@) fer B) =
(C) vafea faeet (D) Ul A%

Ife ueh Hiefl [T ST B Y-3187 TR TehRIcHsh TUEH S-1dT 8, 1 39T d1edd g b,

T R L L S e et o o 1
(et Feebent gt e et <61 4 ¢ 1)

@) ferah, sh ®) fiicf, fifef

© =, = D) ferzf, fief

TEa fo6, Wi srefeewen # frafafed # 4 s faft g e i 2 7 1
(T fashed HT T L 1)

(A) TEGIT I Y13 HT IR |

(B) T ¥ T& At ferefaren g ferqett # a1 wftaml 1 ifve o |

(C) e 9T T S aTet R T2fe |

(D) =9 faza (ROW) & T 7 |
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Identify the incorrect feature(s) of the Money Supply in an economy,
from the following :

(1) It is measured during a period of time.
(11) It includes stock of money held by the government of a nation.

(iii1) It always represents the currency held with Central Bank of the

Nation.
Alternatives :
(A) (@) only (B) (1) and (1)
(C) (@) and (i) (D) @), (i1) and (ii1)
Under the Exchange Rate System, the Central Bank can control

the rise / fall of foreign exchange rate in a range bound manners.

(Fill up the blank with correct alternative.)
(A) fixed (B) flexible
(C) managed floating (D) gold standard

If a straight line consumption function makes a positive intercept at the
Y-axis, it implies that the Marginal Propensity to Consume and
Average Propensity to Consume as the level of income rises.

(Fill up the blanks with correct alternative.)
(A) remains constant, rises (B) falls, falls

(C) rises, rises (D) remains constant, falls

Identify, which of the following is not a source of demand for foreign
exchange for Indian economy ? (Choose the correct alternative.)

(A) Import of goods and services
(B) Remittances by foreigners living in India to their families abroad

(C) Indian tourists visiting foreign countries

(D) Loans from Rest of the World (ROW)

1
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9. foreht sreferae © i S g1 STYfd ¥ FehFA R HRATE | 1
(T Taerea grn ek Tt <1 ofd =X 1)
@) FHw, I’e
(B) ehg ARIeTd TIITd, HHT
(C) ST, it
(D) &bl s, 2

frfeftaa seat &1 ufeu @ 31fimpeT (A) 3R ru (R) | = feu u fasedt o @ @&t

forehed g : 1

fireRe (A) : 311 910 U &4 W, T¥] IaT & Taqeaq o forelt Ty <t udis st o
G B2 |

&R (R) : TR fafm gt somet & siata, foret Ty <At eiey gt <1 sraeed faeeft gan
% Hey U Te] 451 % g o hft i Gefifq Hdr? |

fererea

(A) AR (A) 3R FHROT (R) THT T § TR HROT (R), Jh (A) i Hel e
HLATE |

(B) AT (A) 3T HROT (R) THT T & 3T BT (R), IARIHAT (A) Y Tt =umen
TE T B |

(C) I1RheT (A) T B, iferd ST (R) 318 § |

—
e

(D) SAMRAT (A) 39 B, Tfehd HROT (R) TF 2 |

11. YA % YIAH Gde o STaTd Sad 9 THTESH Hel ol dgrator 37 §amd | 3
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The Central Bank can reduce the Money Supply in the economy by

©

the . (Fill up the blanks with correct alternative.) 1

(A) increasing, bank rate
(B) decreasing, cash reserve ratio
(C) decreasing, bank rate

(D) buying, government securities

10. Read the following statements — Assertion (A) and Reason (R). Choose one

of the correct alternatives given below : 1

Assertion (A) : Ceteris Paribus, Devaluation of domestic currency leads

to an increase in National Income of a nation.

Reason (R) : Devaluation of domestic currency refers to reduction in the
value of domestic currency with respect to foreign currency, under

the fixed exchange rate system.
Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the

correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

11. State the meaning of autonomous and accommodating items, under

Balance of Payments of India, with the help of an example. 3

© 58/4/3/R4PSQ/21 P.T.0.
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12 (a) TrfafRea SHeRT 1 ST i §U, TSR HHd T Tt 83 371G (GDP,,)
o oo T ST i

A .

e

T (X Fe H)

®

T U =

1,200

(1)

TR Tl e s

800

(i)

LT Ffam 3usi s

500

(iv)

forafa ot strrma <Y srftrenar

100

v)

G AT H

150

(vi)

Hrerg=l (Inventory) T aftad

=) 50

(vii)

feor dsft w1 3w

200

(viii)

foresti @ 31 w1 3

80

(ix)

L IEEIEE RS ICIRECH

70
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(b) “3IF & =hT YaT8 & FEaror =107 (Disposition Phase) ¥ SRk 3T &1 JaT8
aftrfera g 8, fem Bt 9 Teei i et aogt, = 9 o e gt g |

31T TR & G H HRUT FqTd FU, U HT e AT AU H |
13. R fiotel Sb & “Sehi o S o T’ 1 hl TG R |

14. T fifS, ¥Ra TR I T 40,000 HUS Y T INESHT & 1 Gl (a9
TrcaTied i o1 o feran 2 |

3= aeft wrehl I STaiEfaa wmd gu, € w8 el % srefereten &t IR, USR F
ITeH T GHTfed THTS h SITEAT o |
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(a) Estimate the value of Gross Domestic Product at Market Price

(GDPyp), using the following information :

S. No. Items Amount
(in ¥ crores)
1) Household Consumption Expenditure 1,200
(11) Business Fixed Investment Expenditure 800
(111) Government Final Consumption 500
Expenditure

@1v) Excess of Imports over Exports 100
(v) Net Indirect Taxes 150
(v1) Change in Inventory (=) 50

(vii) | Consumption of fixed capital 200

(viii) | Net factor Income from Abroad 80
(ix) Public fixed investment 70

OR

(b) “Disposition Phase of circular flow of Income involves flow of factor
Income, which comprises of rent, wages, interest and profits from
firms to households.” 3

Defend or refute the statement, giving valid reasons in support of
your answer.

13. Elaborate the ‘Banker’s Bank and Supervisor’ function of the Reserve
Bank of India. 4

14. Suppose, the Indian Government decides to boost public investments with
a defence project of ¥ 40,000 crore. 4

Explain the likely impacts of the given situation on the Income, Employment
and Output of the economy, assuming all other factors constant.

Page 11

QOCLEEEICEEOEEEICEEUECEEIEEEOEEOEIEEEOOEEEIELEOOCEEICCEO

© 58/4/3/R4PSQ/21 P.T.O.

.
Qcollegedunlas
India’s largest Student Review Platform



5%37
@) maamqmeieqwa@mﬁﬁa | Freffiaa srieel gr sreferaeen § faw
=% <] TUHT HL | 4
G TEE ™ =% 20,000 FUS
(i) €T IuHm SR (MPC) = 0.8
(iii) TETE ITHAT () = T 100 HUS
3T
(b) “HgT JTETHIf T TE B b LT W, AT fwd 6 (RBI) “Teardd W1 g0 o st
HLGHAT S |7 4
RBI g1 331U S Tt 3H e o doh 4R hi feroeHT i |

—
&t

16. (a) =3 foftr gro adia 31 o 37Tt © Tefrd =T ol 9ui o | 3
(b) “frsc $© el H, SIS B J dF gfg ¥ a1 FhNicHs arerast |
TN ST HIh! AMa gs 8 17 3
few 7T U 13U el g g L |
17. (a) () e a1e o 3vef 9 g7 fod | 2
() ‘T AT T 3T F TR o foraior § STHHMHATST i ol i T THHI
TS Th ITARTT F1eH Bl Ahar & | 4
AT 37T U TTC U | TgHd & 7 3794 I o Tu § 01T qeh T hi |
FrerE
(b) Fr=faTRaa =1 A= RO R, GSTa STfC STera Usedl STl § afiehd o : 6

() R ferd s (RBI) & S3hR g1 o a = |

(i) Tl TR H et grasites &= o 3ushH (PSU) & 3790 (Share) & foshi @
HThT 1 T |

(iii) *ficTohT TRHR GRT WA TR I FHTAT 7T 3k |

©us - |
(VT afeiers fererma)
1970 % <3k |, ITfehEd™ 3 3194 I T TFTIHTT T o | 1
(&gt oo g fer worm A1 gfd i 1)
(A) Faferean gfae gten (B) STWIRRI T
(C) Yofir =g (D) farceft =R
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(a) Suppose an economy is in equilibrium. From the following data,

—
&t

calculate Investment Expenditure in the economy : 4
(1) National Income =3 20,000 crore
(11) Marginal Propensity to Consume (MPC) = 0.8
(i11) Autonomous Consumption (¢) =3 100 crore.
OR
(b) “With the objective to correct deflation, Reserve Bank of India may
decrease Reverse Repo Rate.” 4

Discuss the rationale behind the step taken by the Reserve Bank of
India (RBI).

16. (a) State the steps pertaining to the estimation of National Income by
Expenditure Method. 3

(b) “In the past few decades, Indian economy has been fairly benefitted
by positive externalities created by rapid rise in infrastructure.” 3

Justify the given statement with valid arguments.

—
~

(a) (1) State the meaning & formula of Primary deficit. 2
(1) ‘Government Budget can be a useful instrument in reducing
inequalities in the distribution of income & wealth in an
economy.’ 4
Do you agree with the given statement ? Present wvalid
arguments in favour of your answer.
OR
(b) With valid reasons, classify the following into Capital receipts or
Revenue receipts of the government : 6
(1) Loan taken by the government from Reserve Bank of India
(RBI).
(1) Receipts of the government from sale of shares of a Public
Sector Undertaking (PSU) in open market.
(ii1) Debt cleared by Sri Lanka Government to the Indian

Government.
SECTION - B
(Indian Economic Development)
18. In the decade of 1970’s, Pakistan nationalised its industry. 1
(Fill up the blank with correct alternative.)
(A) Medical infrastructure (B) Consumer goods
(C) Capital goods (D) Foreign trade

QOCLEEEICEEOEEEICEEUECEEIEEEOEEOEIEEEOOEEEIELEOOCEEICCEO
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g i fob Freferfiad o & i 9 waAtere h1 Ok e T 8 7
(i)  3TURE T SfEsH

(i) Sfe st e

(iii) e weHfl HaTd SgH HEA

frerea

A) ¥ @) B) ¥ (i)
(C) (i) = (i) D) @) (i)

freaferfaa syt 1 afew : stfimpem (A) 3tk ®ror (R) | = fou e oot & @ @&t

ﬁqv_ch@ﬁﬁz

fireReM (A) : WA o IfehEam & forehTal STg¥e 3 8 FHMAT § |

HROT (R) : YRA T IR QT 3 Teh T T3sfl &3 s W 31feres o7 feam o |

ferehea :

(A) 3AfTHYT (A) 3R HROT (R) ST T § TR HROT (R), Jhe (A) i H&! e
HATR |

B) 3fFHYT (A) 3R FHR (R) SHT I & 3T HROT (R), 31U (A) 1 Tl =Iren
T wg |

(C) AN (A) 9 2, WAfehd ®R0T (R) 316 7 |

(D) IANTHUT (A) 3THH B, AfhaI HRT (R) TA R |

. N =1 Th et Jurrelt B, S wiiRTeeh Hdet i sETel Hid 8, S T 8

AT g HA B | (Tt farehen g Tk worm <Y gfd i 1)
(A) URHiEh B) TEmE
(C) iferh (D) g™
. IR i gur oy H 3R qifepear 4 o ERRERE IO
(Tt foere gr feh T <A1 gfd w1 1)
(A) 1978, 1988 (B) 1988, 1978
(C) 1978, 1991 (D) 1991, 1988

58/4/3/R4PSQ/21 Page 14
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Identify, which of the following is not a correct function of environment ?

(1) Exclusion of waste

(1) Sustainance of life

(111) Provide aesthetic services

Alternatives :

(A) () only (B) (1) only
(C) (i) & (ii1) D) O & 1)

Read the following statements — Assertion (A) and Reason (R). Choose one
of the correct alternatives given below :

Assertion (A) : The developmental experiences of India and Pakistan
have a lot of similarities.

Reason (R) : Both India and Pakistan laid emphasis on creating a large
private sector.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.

farming is the system that restores, maintains and enhances the

ecological balance. (Fill up the blank with correct alternative.)

(A) Conventional (B) Chemical

(C) Organic (D) Multi-layered

Economic reforms were introduced in the year in India and in the
year in Pakistan.  (Fill up the blanks with correct alternative.)
(A) 1978, 1988 (B) 1988, 1978

(C) 1978, 1991 (D) 1991, 1988

1

1
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ﬁﬁﬁw%aﬁﬁﬁ,gﬁ%wmﬁw%mgﬁm wEd! o
HEEl H TN 2 TR | (Tt fopea g fem i higfd spl 1) 1

(A) g, @™ B) HUHE,

(C) @™, Thg D) T, @@

frefeaftaa et 1 ergEes 31 1

U 1 : TP vldest gderon sRie™ (NSSO) & IER, SUSHTH 97 3raw 7, fed
=k 19 % 31T o HRUT ToHT 6™ & @ I 3 | I SR A6 T8 7, W
AT USTTRGTATSAT § T W T8 & | SaH TRIEEl o S=ierd 7oigh 6t W M
T HI 3TIT Tehe HLHE T @ |

YA 2 : A Y FTATereh ST et 31 H T SISTTRT SR TR U St T 2 |
few mTu el % et # fferiaa o & @@ foreheq 1 = i :

(A) Y 1 H g N HYA 2 AR |

(B) YT 1 IHILINFAT 2T |

(C) ®eH 132 a2 |

(D) HUF1 3R 2 GHI ATAE |

frefaRad et w1 egde 31899 &l 1

HUA 1 : 9 T 3799 ARt & fou stfafes amifse o s1ffe sreer 3a= w3 &+ fag
TSR 1 3931 fopaT 2 |

HUA 2 : AT T R g GHIRR GEHH S @ % i 3 gHa faera dehaent §
HehTIcAeh g feu 2 |

few 0 i % et § Freferiaa o 8 adl fohed 1 =g HifT ;
(A) YU 1 H g N HYA 2 T E |

(B) U 1 3ITA L INHIT2 TR |

(C) FUT13M2TF AT |

(D) o 1 31K 2 3HI @A & |
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23.

Lo
b

25.

[E3E

CFA]
Under the British Rule, commercialization of agriculture resulted in
shifting of agricultural production from crops to crops. 1

(Fill up the blanks with correct alternative.)

(A) Cash, Food (B) Cotton, Jute
(C) Food, Cash (D) dJute, Food
Read the following statements carefully : 1

Statement 1 : As per National Sample Survey Organisation (NSSO)
unemployment is a situation in which all those who, owing to lack of
work, are not working, but seeking work from prospective employers,
expressed their willingness to work under the prevailing condition of
work and remuneration.

Statement 2 : Disguised unemployment is generally a massive problem
in the highly populated country like India.

In the light of the given statements, choose the correct alternative from
the following :

(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statement 1 and 2 are true.
(D) Both Statement 1 and 2 are false.

Read the following statements carefully : 1

Statement 1 : China has used the market mechanism to create
additional social and economic opportunities for its citizens.

Statement 2 : In China, Social Infrastructure created by the government
brought positive results in human development indicators.

In the light of the given statements, choose the correct alternative from
the following :

(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statement 1 and 2 are true.
(D) Both Statement 1 and 2 are false.

© 58/4/3/R4PSQ/21 Page 17 P.T.O.
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26.

28.

29.

&

Ot

g foh Frefaiad § § & 1 faehea, S fouom Jorefl < s g o STESHI
B AR 7 -

(A) TISHE, WSHUT, TEERTT, YehfS (B) 3T, A, THERT, UfeT
(C) TIISH, TEERT, Yoo, uftas (D) &R, Yk, afem, faauon

. Tttt syt 1 ufen : AT (A) 3t sro (R) | = feu v fomeqi & 9 9=t

ferepea g :

AR (A) : A3EE wite TS sl &1 o forepmar o wep wer oft |

FruT (R) : Foft 8 9 3edTe, TR 9 STaUE Siaeaeierehdt § GUR & ST ATged
ITH A A 91 Tl wefe Y oft |

fererea

(A) 3IHYT (A) 3R HR (R) ST T & 3 HROT (R), 31The (A) 61 9t s
FAE |

(B) 3fRUT (A) 3R HRT (R) GHI T & 3T HR (R), THT (A) h1 9t =Imen
TE HTR |

(C) 3Ry (A) 9 8, AAfeh ST (R) 31T 2 |

(D) 3RHUT (A) 7T 8, Afeh HROT (R) T 2 |

(a) YRR referawn & foiu feeH Se & ®9 4 “SArenfasftar &1 319 H & i &
Teh WX GeTH ==l |
aroran

(b) ‘BT I9EH T fod W WY S St B, g e 9 wfiwia ekt < fore ug
It TS B |

few 7T e 1 Siifac fag &t |

T ST At §, HiY F Foferi & e’ & | % & i G fohar T o7 |
AT 3179 TG 7T = | Tg0a & 7 9 Tehl gRT 3T 3L T THH Y |
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26. Identify, which of the following alternative indicates towards incorrect
components combination of Agricultural Marketing System ? 1

(A) Assembling, Storage, Processing, Packaging
(B) Production, Assembling, Processing, Grading
(C) Assembling, Processing, Packaging, Transportation

(D) Processing, Packaging, Grading, Distribution

)
~

Read the following statements — Assertion (A) and Reason (R). Choose one
of the correct alternatives given below : 1

Assertion (A) : License Permit Raj was a major obstacle for growth of
private sector.

Reason (R) : Private sector wasted huge amount in obtaining licences,
rather than on improving the product, quality and international
competitiveness.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.

Do
®

(a) Discuss briefly the rationale behind adopting ‘Self Reliance’ as a
planning objective for the Indian Economy. 3

OR

(b) “Farm subsidies put a huge burden on the government finances, but
are necessary for the poor and marginal farmers.” 3

Justify the given statement.

o
©

Goals of Equity was fully served by ‘abolition of the intermediaries’ in
agriculture in the post-independence period of India. 3
Do you agree with given statement ? Support your answer with valid
arguments.

© 58/4/3/R4PSQ/21 Page 19 P.T.O.
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() “wra s uga e Aifd 2020 Herpreda ferni & wferor W agd ST ed

30. (a)
g 3
feu Tu U & 3relie o, TRt off Ty % e & % S W 3H YHR &
YT UTRTEIUT S IS &1 ST 1 Seoid o ST i |
(i) 3TTeRTEE AT Ak i AT Y | 1
e
®b) () A Frl g Fron K e w, Tk wRor fEfra Saaaelt s §
TiFAT3TT T 3Te9 TEAT UTE ST 2 | 3
(i) e —STEEAT STTATA T TR i | 1
31. (a) ‘s fagH WA, Wifehed & <9 | O Srafirehar st amr= gicferfa amd 8 17 2
form fetmrruTa < 3reres | feu 7 a1 fag |
(b) TRl € TIaAdT Hehdehi T Seoid H | 2

32. foqa &9 & "t fop wRa i a1fefe gur wheen 3 frafaRaa @1 fra yeer wanfea

QOCLCEEICEEOEEEICEEUECEEIEEEOEEEIEEEOOEEEIEEEOOCEEICCE0

fopa 4
(a) V&S
(b) 3N &=k
33. (a) (1) urHv fae™ § 9rg & AEa 6l AR A | 3
(i) ‘“9IRd GEAT TENREHT T JAM Hh WA bl FTH R STdeERn §
iafdd s TFhar g |’ 3
feu mu e w1 3iferca fiag
FAoran
(Bb) (@) “FANUES & b T IS & H USHTR I~ HiT Sawh 2 | 3
1= b gRT feu 7Tu shem o1 3iifarea fag =6t |
(i) TR GRI P foqur gum = foe 31oTe MU fomwel g1 Sumi < s i | 3
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“National Education Policy 2020 of India stresses a lot on

w
)
—~
Qo
N
—~
N

in-service teachers’ training.” 3
In the light of given Statement, state and explain any two
advantages of such on-the-job trainings in upliftment of

education sector of any nation.

(11) Define Casual Wage Labourer. 1
OR
(b) (1) Elaborate any two reasons owing to which lesser number of
women are found in regular salaried employment. 3
(i1) Define Worker — Population Ratio. 1

w
—

(a) “Scholars find son preference as a common phenomenon in India,
Pakistan and China.” 2

Justify the given statement in the light of skewed sex-ratio.

(b) State any two liberty indicators. 2

Elaborate how the economic reforms process of India impacted the
following : 4
(a) Agriculture sector

(b) Industrial sector

33. (a) () Elaborate the importance of credit in rural development. 3
(1) ‘India can transform itself knowledge-based economy by using
information technology.’ 3
Justify the given statement.
OR
(b) (@) “It is necessary to generate employment in the formal sector
rather than the informal sector.” 3
Justify the given statement with valid arguments.
(11) Discuss any two measures initiated by the government to

improve Agricultural marketing in India. 3
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34. % fooefl § G-20 st sl =yon 1 YR 91 2..... “FH T g 9 T THER 8 ael
T U WITSA TS H § |7

T EWOT H FAq13T |, 2030 TiET aUT Fad b e (SDGs) i quid: F y9relt €9 §
Toranfera 3 1 Hehew foran B | wons 1 fafed Aarsti ) gfaegand “gar s re-99 &
Triifeufees o & 1 gewTd § T8 % €3 ol euiidi 87 |

YU 98 I e ® 56, “SDG % 2030 % TS W T I T Hehel o
ST < IoTC L W fean 2

ATl A g gifvaa foRan fop, “fepet oft Trg ot e 1 @1eTs @ qeaht <t oieTs | § foReht
Teh T T 4 HET I |

Tft Janati 7 frafeiaa & foe wrt o &1 e o & -
e TSeW, Had, Hdfetd 9 quTaef faeem A it

e 2030 TiET % Ul F YT} hrIfaE H dwll;

o fym e 3 wTEf ®9 § Taq foehm 9 ST,

o  SEM, SATISH aUT IATersh T for TRTi % foI Fomi o1 311 sIgHT |

gyt 941, “SDG W WIfd T it o & foTt G-20 2023 1 JSHT & YHTe 9 guIag
HITRA % foTu drfees wRIATE S & fore ufteg §; 99 @ o HUIN0 BT Ged ST,
Sfvgeh W 1 gg HT AUT TR BRIV I AN HLAT TUT TorerTgut freqr e

S affera g 17
(a) SDG I 3ucAfed U Afesh I o Uetd h oot J SATEIT e, | 3
(b) ‘SH-EeY TS i TIcETET TeH il ¥ S-20 Ia13it 1 e Ao 1 g8 §

T At | 3

QOCLCEEICEEOEEEICEEUECEEIEEEOEEEIEEEOOEEEIEEEOOCEEICCE0
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“We are One-Earth, One Family and we share One Future.” is the opening
sentence of the G-20 New Delhi Leader’s Declaration Statement.

In this statement the leaders pledged to “resolve to fully and effectively

w
-~

implement the 2030 Agenda and the Sustainable Developmental Goals
(SDG’s)”. The leader’s commitments contained in the Declaration
statement reflect, “the philosophy of living in harmony with our
surrounding ecosystem”.

The Declaration recognises the “Cascading challenges and crisis that have
reversed gains” on the 2030 Agenda of SDG’s.

The leaders “affirm that no country should have to choose between
fighting poverty and fighting for our planet”.

The leaders resolved to act

° accelerate strong, sustainable, balanced and inclusive growth;
®  accelerate the full & effective implementation of 2030 Agenda

® pursue low-carbon and environmentally sustainable development

pathways;

®  Pursue reforms for better, comprehensive and more effective finance
avenues.

The leaders commit to “taking collective actions for effective and timely
implementation of the G-20 2023 Action Plan to accelerate progress on the
SDG’s; including through actions on eliminating hunger and malnutrition,
strengthening global health and implementation of One Health approach,
and delivering quality education.”

(a) State and discuss the importance of collective fight in achieving
SDG’s. 3

(b) Discuss briefly the action plan of G-20 leaders in promoting ‘One
Health’ approach. 3

QOCLEEEICEEOEEEICEEUECEEIEEEOEEOEIEEEOOEEEIELEOOCEEICCEO
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